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(1) Enumerate the prachcal ditficulties involved i stalling a costing system in

(7)

I

4 manufacrmg concein

(0 Keshany Lrds Manufactures picture tubes of T.V. The following particulars

arc avarlable for the year 2022,

Werage monthly market demand 2000 tubes

Qrdenng costs <200 per order
Inventory carrving cost 20% per annum
Cost of tubes \ %260 per tube
Normal usage . 100 tubes per week
Minimum usage 50 tubes per week
Maximum usage 150 tubes per week
Re-order period 6-8 weeks

Compute the following :
(1) Economic order quantity
(1) Re-order level
(1) Maximum stock level
(iv) Minimum stock level ()
OR

_ (a) From the following transactions, preparc a store ledger account for the month

of July 2022.
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July 1 Opening stock 200 units @ 45 per unit
July 4 Purchases GRN-574 150 units @ 46 per unit
July 5 Issued SR-220 100 units

July 10 Purchases ~ GRN- 578 200 units @ 46.50 per unit
July 20 Issued SR-223 140 units

July 25 . Purchases ~ GRN-560 150 ﬁnits @ 48 per unit
July30  Issued SR- 224 150 units

July 31 Return of 10 units purchased on July 25.
Find out the value of stock as on 31% July 2022 if company féllows perpetual
inventory method by FIFO. - - (7)

(b) Distinguish between :,
(i) Sunk cost and Out-of-pocket cost
(i) Opportunity-cost and Imputed cost
(iii) Controllable and Uncontrollable cost

(iv) Variable and Fixed cost (8)

OR

2. (a) Anemployee of ABC Co. gets the following emoluments and benefits -

(i) Salary 325,000 pm
(ii) Dearness allowances :

1+ 210,000 of salary 24,000

On next 10,000 of salary

31,000

On balance of every 310,000 ¥5,000 or part thereof

PT.O.
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(b)

(iii) Employer’s contribution

to provident fund
to I'SI

(1v) Bonus

(v) Other allowances

8% of salary and D.A.
4% of salary and D.A.

20% of salary and D.A.

22,725 per annum

A. an employee works for 2000 hours per annum, out of which 175 hours
arc non-productive but are treated as normal l(“C_ time. You are required to

find out effective hourly cost of A.

(5)

X furnishes the following data related to the product red’s manufacturing for

May 2022.

Stock of raw material as on 1* May
Stock of raw material as on 31* May
Direct labour charges

Indirect labour charges

Purchase of raw materials

Freight inward

Other expenses on purchases
Freight outward

Advertising

Sale of scrap

Office rent and rates

Commission on issue of shares
Goodwill written off

Transfer to gencral reserve

265,000
291,000
264,500
356,400
?45,()‘00
15,600
212,500
310,500
328,000

21,500
354,000

36,000

28,000

10,000
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Other direct exXpenses 215,400
Advance imcome tax 217,500

Depreciation on

Plant 222,850
Office furniture | 211,000
Stock of finished goods as on 1* March 266,000
Stock of finished goods as on 31* March 254,600
Manager's salary %48,000

(manager’s time is shared between factory and office in the ratio of 20:80)

Prepare a cost sheet for the month of May 2022, (10)
OR

The contract ledger of M/s Solanki and Sons showed the following expenditure
on account of a contract on 31st December, 2022 :

*  Materials ‘ 32,10,000
. Wages %2,93,000
. Plant 370,000
«  Sundry Expenses 315,000
«  Establishment Charges 210,000

The contract was started on 1** Jan. 2022 and the contract price was 210,00,000.
Cash received on account to date was ¥4,80,000 representing 80% of work
certified, the remaining 20% being retained until completion. The value of plant
on 31st December, 2022 was 320,000 and the value of materials in hand was
26,000. The cost of work finished but not certified on the said date was 350,000.
Some of the materials costing 20,000 were found unsuitable and were sold for
16,000 and a part of the plant costing ¥5,000 unsuited to the contract, was sold
at a profit of T1,000. In order to calculate the profit made on the contract to 31
December 2022, the contractor estimated further expenditure that would be

incurred in completing the contract and took to the credit of profit & Loss A/c

P.T.O.
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for the year that proportion of the cstimated net profit to be realised on the
contract which the value of work certified bore to the contract price. The estimateg
¢

of further expenditure were as follows :
(i) That the contract would be completed by 30th June, 2023.

(i) That a further sum of 30,000 would have to be spent on the plant and the
residual vaiue of the plant on the completion of the contract would be
312,000.

(1if) That material in addition to those in hand on 31st Dec., 2022 would cost

1.00.000 and that further sundry expenses of 37,000 would be incurred.

(iv) Those further wages, for the completion of the contract, Would amount to
%1.69.900.

(v) That the establishment charges would cost the same amount per month as in
the previous year.

(vi) That ¥18,000 would be sufficient to provide for contingencies.

Prepare contract account for the year ended 31st December 2022 and show the
calculation of the amount to be credited to the Profit & Loss A/c for the vear.

Also show how the relevant figures would appear in balance sheet as on 31"
Dec. 2022. (15)

(a) AB Ltd is a manufacturing company having three production depanments A

b

B and C and two service departments X and Y. The overhead departmental

distribution summary is as tollows :

Departments
A B c X Y
Total overhead as per
Primary distribution 6,300 7,400 2,800 4,500' 2,000

A 1CCl‘n]Cd1 asscssment of the apporllonment of expenses of service
departments is as under :
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(b)

(c)

(a)

7
A B C X Y
Service Deptt. X 40%  30%  20% - 10%
Service Deptt. Y 30%  30% - 20%  20% -

Prepare a statement showing re-distribution of service department’s expenses

to production. (5)

"Greater the stock turnover more efficient is the stock policy.” Elaborate
with example. Also distinguish between slow, non-moving and cbsolete

materials. Cp (5)

Describe the procedure for purchase of material. (5)
OR

The cost of a machine is Z3, 30,000 and it has an estimated scrap value of

- %30.000 at the end of its estimated effective life is 10 years. Annually the

machine works on all the 365 days at a rate of 8 hours every day of which
120 hours p.a. are consumed by maintenance. About 1/7th of the total

productive time is consumed in setting up the machines.
Various costs relating to the working of the machine are as follows -

(1) Two units of power are consumed every hour at the rate of X7 per

unit.
(i) Monthly cleaning and oiling expenses for the machine is 31,400.
(iii) Annual mainterance of machine amounts to ¥14,000.

(iv) Three operators combined together control operation of ten identical

machines and each of them gets a monthly salary of 310,500

(v) Annual departmental overheads apportioned to the machines’ are -

fixed: ¥27,400 variable: 63,000

P.T.0.
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4027
Compute machine hour rate in each of the following cases :
(i) Setting up time is regarded as productive but power is not consumed
during setting up time.
(i) Setting up time is not regarded as productive but power is consumed
during setting up time. (12)
(b) Explain cost, expense and loss with example. 3)

4. Shanker Ltd. has promised a contract to run a tourist bus on route covering 30
km. He buys a bus for 320, 00,000. The effective life of the bus is 10 years with
a scrap value of ¥5,00,000.

The annual charges for the bus insurance - 60,000
Annual road tax _ 330,000
Monthly garage rent | 315,000
Salary of driver | | , - 36,000 pm
Salary of conductor (two conductors are engaged in one bus) 36,000 prh each
Repair charges | 310,000 pm
Office expensés | 3800 pm

Petrol and oil cost is ¥5 per km.
Normal capacity of passengers 50

Bus occupies 70% of the capacity and is expected to run 5 round trips during

20 days in a month.

In addition of above driver and conductors are entitled to a commission of 5%
on takings. Calculate total takings and passenger fare per km, allowing 15%

profit on takings. (15)
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OR

The following data arc available in respect of process | for March 2023 -

(1) Opening stock of work in progress: 800 units at a total cost of
34,000.

(i) Degree of completion of opening work in progress.
Materials | 100%
Labour 60%
Overheads 60%

(1) Input of materials at a total cost 336,800 for 9,200 units
(iv) Direct wages incurred 16,740
(v) Production overheads 8,370

(vi) Units scrapped: 1,200 units. The state of completion of these units was:

Materials 100%
Labour 80%
Overheads 80%

(vii) Closing work-in-process: 900 units. The stage of completion of these units

was :

Materials 100%
Labour 70%
Overheads 70%

(viir) 7,900 units were completed and transferred to next process
(ix) Normal loss is 8% of the total input (opening stock plus units put in)

(x) Scrap value is 4 per unit

PTO.
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Prepare :
(a) Statement of equiy
(b) Statement of cost,

(c) -

(d) Process account.

10

alent production,

Statement of evaluation using the FIFO method and

(15)

(a) ABC Ltd. has furnished the following information from the financial books
for the year ended 31% March 2022.

Particulars Amount (%) | Particulars Amount (%)
Opening stock (500 . Sales (10,250 units) 28,70,000
units at 140 each) 70,000 | C losing stock (250
Material consumed 10,40,000 | units at 200 each) 50,000
Wages 6,00,000 [ Interest 1,000
Factory overhead 3,79,000 | Rent receiyed 40,000
Administration 4,24,000
overhead
Selling expenses 2,20,000
Bad debts 16,000 |
Preliminary 20,000
expenses
Net profit 1,92,000

29,61,000 29,61,000

The cost sheet shows the cost of material at 104 per unit and the labour
cost at T60 per unit. The factory overheads are absorbed at 60% of labour
cost and administration overhead at 20% of facftory cost. Selling expenses

are charged at 324 per unit.'The opening stock of finished goods is valued
at X180 per unit. You are required to prepare
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(1) A statement showing profit as per cost accounts for the year ended

31 march 2022,

() A statement showing the reconciliation of profit as disclosed in cost

accounts with the profit shown in financial accounts. )

(b) Explain the treatment of following items in cost accounts :
(1) Packing charges
(11) Research and development cost.
(ii)) Royalty and patent fees (6)
OR
(a) Write a note on :

(1) Methods of absorption of factory overheads.
(1) Activity based costing approach‘ _ (5x2=10)
(b) Pass journal entries in the cost books (integrated and non-integrated system)

for the following transactions.

~

(1) Purchase of raw materials 35,00.000
(it) Productive wages paid §3,52,()0()
(iii) Material issued for repairs §45,000
(iv) Office expenses paid ¥72.000
(v) Stores issued 354,000
(5)

PTO.
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1 g 3R weten 200 FFE(@as wfa afre

4 g T I ~574 150 e @as W afe

5 e VAR~ 220 W fhar 100 zeprzar

10 g @@ MARGA- 578 200 AT (@46 50 Wy afe
20 §orE Wi VIAR - 223 140 ZehTEar

25 §oE e MARTT- 560 150 afe(@as 9 afire
30 I W TEHAR - 224 150 FehTEar

31 L 25 T R @A T 10 T @ fed

31 Fei§ 2022 aﬁﬁmwwmaﬁuﬁmmmwﬁrﬁamm
TS RS B | . | (7)

() vdé& ot & v et @ feefaRad oRefea sk any fem 2 -
(i) @ - 225,000 Wl #®
(i) #EME W=
I* 710,000 &I 94 A 4,000

TEa 912 710,000 I & 21,000
On balance of every 210,000 <5,000 or part thereof

(iii) faEe &1 FwEE
- wfgg FAfe F a9 3R S &1 8%
- FugarE @Y A9 IR QU @ 4%

(iv) AT 3R AT T 20% a-E

PTO.
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(v) 3 W= 22,725 9fd O

A, U HHER) Wi a9 2000u%mm%,ﬁ1ﬁ%175u%a§am€%§%ﬁn
= fAftry @ @ w1 A A9 Wi ) U@ T @ T wiY wer e @6 g

A B

(5)

T WS 2022 @ v IR W @ Peie @ Gefe fefilaa 3 e w2

Stock of raw material as on 1 May
Stock of raw material as on 31* May

Direct labour charges
Indirect labour charges
Purchase of raw materials
Freight inward

Other expenses on purchases
Freight outward

Advertising

Sale of scrap

Office rent and rates
Commission on issue of shares
Goodwill written off
Transfer to general reserve
Other direct expenses
Advance income tax
Depreciation on

— Plant

— Office furniture

Stock of finished goods as on 1* March
Stock of finished goods as on 31 March

Manager’s salary

265,000
291,000
264,500
256,400
345,000
215,600
212,500
210,500
228,000

1,500

- ¥54,000

26,000
38,000
10,000
215,400
217,500

322,850
11,000
266,000
354,600
48,000

(aiereh 1 W R 3R e @ S 20:80 & @mﬁmﬁmm%)

ﬁzozz%ﬂﬁ%%mwmsﬁzﬁmﬁﬁm

-~ (10)
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Aed Al U3 8 D Iy wEER ¥ 31 TG, 2022 9 U@ ST R FRO AT
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S %2,10,000
RECY 32,93,000
- qUA 370,000
fafwsm 215,000
- WO & 210,000

FIEL 1 FE, 2022 B GE R T AW AR FE A AW 210,00,000 M S T
@I A I e 24,80,000 A S VAT HE D 80% 1 WA Fa 2, AW 20%
T T B b SAIY T S ) 31 R, 2022 FY 9T H AT 720,000 A AR FA A
'-mwﬁ@%poo N R B AN Aok I ffy wowniore |8 250,000
M 720,000 N AN AR FT AR A JTIGE A T IR 216,000 ¥ 9 ey W@
R 5,000 & T A FAT N v e Iy B e sepegw a@n @, /R 2,000
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Y W 9 Forar S 2 R i e a6 e ey el ¥ 99 1 W @ =y A
| S S R Al |
‘(i) fh 3T 30 S, 2023 W T HT forar g

(ii) o T 330,000 o HfARE A @ R BN SR-IEE B WA W gET
1 FEfie A 712,000 AWM

(iii) 31 fedar, 2022 1 BTY F A AR W F ST IW WA A FE 1,00 000
T BN AR IM 7,000 TR & fafdw @ B

(iv) ey @ U FA & faw 3 sfaled 397 21,69,900 BN
(v) P o e o o & R e e A
(vi) swrfawraiat & fow wer & & foe 18,000 vt 2m

31 fe¥@r 2022 = A gY 9 & fow 3 @ daR W OAR a¥ = g wny sk = hy
TR A TS SW el A AT A 9w eI fm gt s 31 Rger 2022
1 AoE fie ¥ A R /W - (15)

SNE
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famT
A B C X Y
wafe e & |
IER H[A RS 6,300 7,400 2,800 4,500 2,000

A Tl & = @ e o Tl e AR 2

A B C X Y
a1 famr X 40% 30% 20% - 10%
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| ()
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q1

O A A 23,30,000 SR TR ST TAR e 10 9 @ 3 A 230,000
F FFAHT ThT A B AR € A I @ 365 ﬁﬂ“f?fuﬁﬁwa‘a%aﬁa?%m
TR B, ﬁaﬁﬁlzoﬁuﬁﬁmﬁ%aﬁﬁaﬁ%lmaﬁwﬁamﬁm
IACH G T TR 1/7 WA @ 8l 2

W & W FE A Gared A aR T TR 2

(i) 27 uf gfe 9 A 9 R D afie R 9 @ a2
- (i) T o wwE S A T = Wi @ 2,400 2

(iii) ‘Tﬁ#waﬁa?ﬂama ?14,000 Bl
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(iv) T SRR fietam 70 = F9A @ oo 9 Faid & ¢ 3R S5 9 99S
Y 10,500 T WAE AT Fean 2
(v) ¥R w il aiffe fsmia Sufter @ faw 727,400 aRadia 263,000

Frafafer & ¥ e o ¥ e W A @ A e B
(3) WO N D GG 6 IeqIeE AT SAAl 2 ofch €991 S 999 & e fastent &

@qd A8 B B
(¥) #EH T & W A IEE A8 AT ST 2 AR IO e @ SR faretelt
& @I B B (12).
(W) e, =@ AR B A Iewr aRkd wEE | (3)

4. mﬁrﬁ%gersoﬁmﬁa%azwzﬁewwﬁwamﬁmm%m%lag
?20,00,000 ¥ T T @A B1 75,00,000 T TR A T WY T H WAR e 10 @
2l |

9 99 & forv affe 3y | ' %60,000

e A2 2o 1 ‘?30,006

aifaes e feraan _ | 315,000

IEH A | 26,000 S e
FeFed 1 da9 (T FHIFH U 9@ A oRl §U B) 36,000 W W
AT I 310,000 Wiy #1E
FrTeg @A 3800 Wfd &
g AR A A F ‘ 5 Wi faed 2
aifal o A e | 50

T AT T 70% e ot 2 3R U wEW A 20 oA @ N 5 T T o 3wie
2l | '
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SYAE & A, FHAR IR BTAR AR W 50, & wAI B g 3 i &R am
fera s ard o @) o AR, 2 w159, ay o sfa s

(15)
al
T 2023 @ v kg 1 & qau ¥ Rt HEHS JudAar 7 -

(1) TR & AR ®iw Wiy W R 24,000 @ wF AWE W 800 TN

(1) SRVE I9 @ T D W BN & R/

I 100%
SH 60%
~ IuRkeg 60%

(1) 9,200 TFEA B forg FH[A AW 236,800 W FHM & AT
(iv) w=a& Agd 16,740 T3
(v) J=res 3aftag 28,370

(vi) =F9 &1 T @Al 1,200 THEAN 3T IHEA D 90 BN N Rafy o

~

st 100%
54 80%
m 80%

(vii) @7 T4 - Afar. 900 THIFAT g THEA & T B 61 WOT A
LT 100%

A 70%

Ay 70%
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(viii) 7,900 ThTEAT QO & I 3R TR whkar F wamiaRa &1 & e

(ix) W FHA HA TG A 8% 2 (Yo =i o afrew i foar mar 2)

(x) W A w4 W e 2

¥R g -

(37) Tged e w1 faaw,

(§) w1 faewor,

(F) IR vgfd &1 S oxe qeardT o e s

() vikar @man

(15)

() 31 AR 2022 ﬁmaﬁ%ﬁ?ﬁﬁﬁm%ﬁwﬁﬁﬁmwaﬁ

21
| ferereon afer () |fameor o ()
At wiw (500 g fast (10,250 Tarear) 28,70,000
2140 TE W) 70,000 |
|l F T AT 10,40,000 |& T wiEH @H B @ 2
| (250 AT 2200 WAF W)| 50,000
Faq | 6,00,000 | =T 1,000
haed MaEs 3,79,000 | formar wrer gam 40,000
e AaEs 4,24,000
fast &1 @4 2,20,000
FameA 01 16,000
At & 20,000
g A 1,92,000
29,61,000 29,61,000

P.T.O.
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(i) AT rom

(ii) Sﬁémaﬁtﬁﬁmaﬁral

(i) et sk A2z e (e)

(31) ffofae ® ver A ffaw
(i) wgt miaémw%aﬁ%i
(1) ey g e e e (5x2210)
(@) fomfafaa sm-3 & fog ane afedl (vElgd ik IR -vaiga womel) § e
yfaftear o @it :
(i) == W @ @lde 5,00,000
(i) Iewee ASTG N HAEH 23,52,000 feran
(iii) wom & forg W@ @mmER 245,000
(iv) wdier s &1 S 72,000 foRar @
)

(v) ®R 9 754,000 (s)

(10,000)
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2.

Tft e 9w |

Toft wE B s I B

T W - U &1 IR 33on a1 B ot van won % AfSre, sy
o 3T & WreAw v & B =9ifRy | | '

(a) Cyber crimes are increasing at an alarming rate,
Explain various categories of cyber crimes along

with the reasons of growing cyber crimes. (9)

(b) Define the term Internet of things. Explain various

applications of IoT. | ' (6)
OR

(a) Explain the different types of domain name
disputes. What remedy is available to resolve these

issues. (9)

(b) Explain the problem of cyber space jurisdiction.

What stéps could be taken to address this problem.
(6)

(a) What is electronic or e-money. Explain the

different ways to transfer e-money in India.

9)
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(U]

(b) Discuss various effects of Cyber crimes. (6)

OR

ted and
9)

(a) What is a digital signature? How is it crea

authenticated?

(b) What do you mean by intellectual property?
Explain copyright as IPR. " - (6)

(a) Explain the provisions of IT Act related to issue,
suspension and revocation of digital signature

certificate. . (9)

(b) Differentiate between E-commerce and E-

business. - - (6)
OR
(a) Explain the key features of PDPB 2019. (9)

(b) Explain- the facts and decision of the case ‘State
vs Mohd. Afzal and others. (6)

(a) Explain the role of CCA in the issuance and
renewal of licenses of Certifying Authority. Is
controller authorized to grant license to foreign

certifying authority? (9)

P.T.O.
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(b) What are the provisions of the IT Act regarding

secure e-records and e-signature. (6)
OR

(a) What is e-governance? What provisions are made

in IT Act to facilitate e-governance. 9)
(b) Discuss the commonly used social networking

sites. ‘ (6)

5.  (a) Explain the provisions of IT Act regarding time

and place of dispatch and receipt of e records.

(9)

(b) What are the duties of a subscriber of a digital
signature under the IT Act? (6)

OR
Write a note on the following :
(a) Privacy of online data (5)
(b) Cyber terrorism (3)

(c) Forgery and fraud (5)
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1 (H)mewmaﬂag@%’laﬁtm
Fqek @ ey afRd awE swaH @ e Ao

TR FHIRT | o (9)

(3) Tedc sitn P we @ vt AR FERS F

ﬁﬁ?wﬁﬁaﬁ'waﬁﬁm (6)
atr

(31) ﬁﬁwm%aﬁmﬁaﬁaﬁmaﬂmlﬁ
W @ e @ fag Fw Sua Iwem 3 (9)
(@) Wﬁvéﬁﬁwaﬁmaﬁmm|
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2l S S (e)
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(@) W e @ R A i
B (6)

P.T.O.
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(1) Rftvew wem @ 87 T P aE S i

Sar B7 (9)

(1) e w0 R F? RAEE S
2w ¥ qHyl (6)

&‘ (3) Rfrd TEER YOS WY w@, e R e
3 gehm R sfufEw @ wauml @ =
A | (9)

(@) -=FE IR {-EEm B @ e wewl o (6)
At

(%) FETER 2019 aﬁugaﬁﬁwaﬁaﬁwﬁml

(9)

(@) T T FAEAA AEWE d FA AHA @ q= IR
fofa & sawan #ifgl (6)

4. () vOHE WO @ AEdE T & R A
¥ dhe W vt @ e b @ BaEs
ﬁ%ﬁm#wﬂwﬁm%%a}mmaﬁ
&7
‘ (9)
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(@) T $-Rais 3ik § - weamer @ wag A g fafan
® T WEuE 2 (6)

ar

(37) I-wee = 27 f-wade & g @ oo amEd
stfvan ¥ @y fg T 37 (9)

(@) SRR W TR W W A @ Acafar A
mel (6)

5. (o) I-Redw & Yuw 3R witd & @@ 3k w= @
qau ¥ A e @ wauR @ e Do
(9)

(@) A fw @ avd Riew waer @ Tww @ =
Fad 27 | | (6)

frfafiad W e oo ffae

(a)aﬁmﬁ#ﬁa?ﬁjﬁﬁmm | (5)

P.T.O.
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o @ fag Fadm
= TH-uF @ e & Fw Ry v Fuife == w gy
FAFAE AT |

2. ol we wfRard ?

3 IR G A1 TIRU 3R Ve @ 9 WA T US |19 I faar
HET =R | |

4 THUIE-TF &1 I 3N a1 B frd ven o # S, e
¥ IHA FT AN U B BT A1 |

1. (a) State True/False with reasons : 4) |

(i) A dedicated server acts as both a server

as well as a client.

(i) The TCP part of TCP/IP protocol divides

the message into smaller packets.
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(1) Green computing refers to the computing

policies and practices that are environmentally

responsible and eco-friendly.

- (iv) Degree in a relational database system

represents the number of columns of the

table 1.

(b) Fill in the following blanks with appropriate

words : | (3)

(i) A wireless network uses ______ and

for communication.

(i) 1s a secure communication that

uses rule-based algorithm to transform

original message unto a coded message.

P.T.O.
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§9]

(i) —— is the ability to rup multip|e
operating systems on a single computer

system simultaneously.

What is a distributed computing system? Explain the
benefits it provides as compared to centralized

computing system. - . | | (6)
Or

What is the role of a proxy server in a network?

Explain. : (6)

What are the objectives of networking? (6)

What do you mean by cloud computing? List down its

unique features. (6)
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4.

- | ~ ?
How is database system better than file system

(6)

Or

Explain the following types of relationships with

example: | (6)

(a) One-to-one
(b) One?to-many |

(c) Many-to-many

(31) maﬁéﬂﬁ/ﬂmm: (a)

(i) vw @#fdd 99, R 3R TR AN D wW N
M FHET B

(i) Eréd/ImER AR T ARG Rem Wy @)
@%Wiﬁwﬁam%

P.T.O,
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(iv) T derm famw 3 R aifos &« )

e F1 v & 2

(@) fesfafea Req ==t & ofd Jugaa w= @
%ﬁm: (3)

(i) v% ERe Acas qur @ fag 3

& IIERT FEGT 2

(i) T G R 2w i A
IR e ¥ wet & e P s ot
F IT F@qw R
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(iii) v & Fged Reew W o A FR

ARRT Rew womr & ewar 2

2. BRI @i Reew @ 37 g w@ien feed
F T A D BN W U WY 9 o &t e
i | (6)

deaE W U 9 F a4 i 27 e S
(6)
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1+

(a)

(b)

2

and 23,00,000. Each machine

A firm has two machines costing ¥4,50,000

o il B . depreciation of each machine
has S vears” life with scrap value nil. Find the depreciz ne

for cach ycar using matrix notations if

(1) Both are depreciated by Sum of the Year’s Digits Method.

Digits Method and second
(5)

(ii) First is depreciated by Sum of the Year’s

by Straight Line Method.

OR

A firm produces three products P, P, and P, processed on three machines
M,. M, and M, before completion. M, can process 25 units of P, or 50 units
of P, or 75 units of P3 per hour. M, can process 50 uni'ts of any one
product per hour. M, can process 50 or 25 or 100 units per hour of‘products
P . P, and P, respectively. The processing hours available on machines M ,

M, and M, are 12, 12 and 13 respectively. Using matrices, find: how many

)

‘i

units of three products can be produced per day. (

An economy consists of sectors-manufacturing and agriculture. To produce
one unit of manufacturing output, 0.1 unit of fnanufacturing goods and 0.01
unit of agricultural goods are required as input. One unit of agricﬁltural
output requires 40 units of manufacturing goods and nil units of agricultural
goods os inputs. A unit of manufacturing goods requires 4 man-hours of
labour and a unit of agriculture requires 100 man-hours of labour. Calculate
the total labour requirement if 50 million units of manufacturing and 2 units

of agricultural goods arc used for final consumption Supposing the wage
) e o

rate 1s . .
10 per man hour, calculate the equilibrium prices of manufacturing

(7)

and agricultural goods.
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You are given the following

3
OR

transaction matrix for a two-sector economy :

(1) Write the technology matrix.

Sectors Sales Final Demand Gross Output
Purchase | 1T
. 4 3 13 20
IT 5 4 3 12
Primary Input 11. 5

(i) Rewrite the new transaction matrix when the final demand for the

output of sector I increases to 23 units.

(7)

2. (a) A food company must produce 200 kg of a mixture consisting of ingredient
X and Y daily. X costs T3 per kg and Y %8 per kg. No more than 80g of
X can be used and at least 60kg of Y must be used. How much of each
ingredient should be used if the company wants to minimize cost? Formulate
the above as a linear programming problem and solve graphically. (6)

OR

Write the dual of the following linear programming problem :

Maximize Z = 3x, + 4x, + 7x,

Subject to

xl+x2+2x3S10
4x, — X, — %y 2 15

xl+x2+X3:l7

(6)

PTO.



4046 4

(b) A company produces two types of leather bolls — Type A and Type B. The
contribution to profit per belt is T8 for Type A and X6 for Type B. The time
requirements of one belt of Type A and Type B are in the ratio of 2:3. Time
available s sufficient to produce 500 belts of Type A. The leather is sufficient
for only 400 belts. Belt A requires a fancy buckle and only 200 fancy
buckles arc available. Formulate the above problem and solve it by simplex

method. (12)

OR

For the following linear programming problem :
Write the dual of the following linear programming’problem -
Maximize Z = 10X, + 6X2 + 4X,
Subject to

X, +X,+X, <100

10X, + 4X, + 5x, < 600

2X, +2X, + 6X, < 300

X,X, 20

22 3

X

1°

An incomplete table is given below :

X, X, X, S, S, S, b,
0 | 5/6 5/3 -1/6 200/3
1 0 1/6 -2/3 1/6 100/3
0 0 4 -2 0 100

(i) Complete the following table and test whether solution is optimal or

not. If not, find out the optimal solution.

(i1) Is the solution feasible?
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(iii) Is it a ease of multiple solutions?
(iv) Is the solution degenerate?

(v) Write the optimal product mix and the profit contribution shown by the

above solution.

(vi) Which resources arc fully utilized and which are not and to what extent?

(vii) What are the shadow prices of the three resources?

(viii) If the capacity is to be expanded, which of the three resources should
be given priority?
(ix) If a customer is prepared to pay higher price for product X,

how much should the price be increased so that profit remains

unchanged? (12)

3. (a) The fate of change of total cost (C) of a commodity per unit change of

output x is called the marginal cost of the commodity. If there exists a

relation between C and x in the form :

C=3x(x+7j+5
X+5

Using calculus, prove that the marginal cost falls continuously as the output

(6)

increases.
‘OR

A company charges 6000 for a television set on orders of 50 or less sets.
The charge is reduced on every set by ¥75 per set for each set ordered in
excess of 50. Kind the largest size order the company should allow so as

(6)

to receive a maximum revenue.
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(b) A production function is given by

Q = f(L,K) = 27L**K""
where L is labour and K is capital.
(1) Find the behavior of marginal product of each factor.

(i) What is the nature of returns to scale?

(11) What is the total reward of labour and capital if each factor is paid a

price equal to its marginal product? (6)

OR

°

Find the marginal rate of technical substitution and the elasticity of substitution

for the foll‘owing production function
X = f(Lk) = [ak™® + (1 - a)r°]'®
where x is the total output obtained by using | and k units of labour and

capital respectively. » (6)

(¢c) The supply curve for a commodity is p=+v9+X and the quantity sold is 7

units. Find producer’s surplus. Can you find consumer’s surplus? (6)
OR

The price elasticity of demand for a commodity is

_ 3p
M p-1)(pr2)

Find the corresponding demand function if quantity demanded is 8 units

(6)

when the price i1s 2.
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4.

7

(a) A piece of machinery costs 212,000. The total cost of operation from

(b)

the time of purchase up to a time t is given by the function 20t? + 15t. If
the machine is sold as scrap after t years, the resale value is given by
the function 6880 - 60t*. Find the optimum time for replacement of the

machine. (6)

OR

A multi product firm produces two commodities X, and X, whose prices per

unit are 12 and 18 respectively. Assuming the firm’s cost function as
C=2X} + XX, +2X?

Obtain the equilibrium levels of its products which maximize profit. (6)

A company developed a very efficient typé of machinery. This new machinery
can be delivered in Delhi at a price of ¥90,000. The rate of cost savings is
given by the function f(t)= 5000t"2, 0 <t < 15 where t represents year and
f(t) represents savings in rupees as a result of introducing new machine ip
1 th year. How many years of normal operation will it take to pay for the

cost of machine? (6)

OR

1

For the demand éurve aQ + bP =~ K = 0, where a. b and K are positive

constants. Determine the point elasticity of demand when marginal revenue

is zero. (6)

PTQO
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6 Attempt any three: _ (5x3)
(a) Mr. X deposited 310,000 in a bank for 3 years, offering interest at the rate
of 6% compounded half-yearly during the first year, at the rate of 129
compounded quarterly during the second year and at 10% compounded
continuously during third year. Find his balance after 3 years.
(b) An asset costing ¥4500 will depreciate to a scrap value of 500 in 10 years.
Find the rate of depreciation.
(¢) Aloan 0f%30,000. at the interest rate of 6% compounded annually, is to be
amortized by equal payments at the end of each year for 5 years. Find :
(1) The size of each annual payment;
(i) The principal outstanding at beginning of 4% vear:
g g g y
(i1) Interest in 4™ payment;
(iv) Principal contained in 4% payment; and
(v) Total interest paid.
(d)

Machine A costs ¥10,000 and has a useful life of 8 years. Machine B costs
¥8000 and has a useful life of 6 years. Suppose machine A generétes an
annual labour savings of ¥2000 while machine B generates an annual labour

savings of ¥1800. Assuming the time value of money i1s 10% per annum, find

which machine is preferable?
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| (e) A debt of 5000 due 5 years from now and 5000 due 10 years from now
is to be repaid by a payment of 22000 due in 2 years, a payment of ¥4000

in 4 years and a final payment at the end of 6 years. If the interest rate is

7% compounded annually, how much is the final payment?

L (®) v W T 24,50,000 3K23,00,000 R AR DA AR 31 WD wew 371 B
T QS A ST 5 T B Ao v w1 Iwd Sy 9 @ o
AT W A AeuRE AT e Al

(i) ﬁmwﬁ%aﬁsﬁfﬁ%vﬂnmmmél
(ii) ﬁqwa&% Fiw fafer = A g aﬂzzanﬁtﬁhmﬁ%mm%mm
2 ' . (5)

k1)

T T A I P, P, AR P, W A A w5 A WA M, M, 3R M, W
e Rt 21 M, P, @ 25 T A P, A 50 THEA A P, A 75 3HEA 9
ufe 7 Fafer @ e 31 M, 9 o Rl v e ) 50 T @) G
W 31 M, A P, P, 3 P, IeY # W W 50 7 25 1 100 T
I HEIRI T AR 31 AT M,, M, 3 M, T I TR0 62 F: 12, 12
s 13 #1 A8 o I R g, W 5 ot ey e o e et

mwmmmén - . (5)

PTO.
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10

(@) e sefraen ¥ o - R ol sy mive 2@ 2 s s @ o g

& I wA a forg, o agal ot 01 ged s F A 0.0 T

T W N s A1 g genga o) v g o fore fafi e a0

Tl SR H g oy g o v A 21 A & P o
T D AU 4 wHa-u ww @) el A 2 3R G # v zEE & fay
100 WHE - N2 N F) Havghar A 21 &l HH F@eH i IET FIfe afz 5o
s afie fafo sk 2 afe Ff awr & uam aﬁnw%ﬁvﬁmm
21 7 A fF woed w f o0 wfy wfe e 2, @ fafEin s g amgs
e Fwal @ A HR

ar

FFT 2 - &A1 Faen & fov Fefefad -39 g far @ 2

Sectors Sales Final Demand Gross Output
Purchase I 11
I 4 3 13 20
I 5 4 3 12
Primary Input 11 5

(1)%%%]

(ii)?qﬁm%wﬁ&mﬁﬁm%%ﬁm%wnﬁmﬁaﬁﬂwﬂ
e 7% 7z W R , (7)
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2. (F) v @R @) AT 200 el fsvr w6 e g iR fed arn X AR
Y WS B1 X e 13 Wi o sk v @ e 2 vt fam 21 80 T X @ R
1 I9A T8 A S gewer @ 3R W A w60 fEmr v @ Iudnt fwar S
AR Afe FHIR TARMG FH FHAT AEe B A Yedeh Hedh ol T ITANT ferar S
AT ? Iwied N v Waeh M wwean & w9 ¥ Fefaa Afore stk arerr fafe

I 'F ol (¢)

fr=foriRea e M @we &1 3w fofay
Maximize Z = 3x, + 4x, + 7x,
Subject to X, tx,+ 2x3 <10

4x, — x, —x, 2 15

x1+x2+x3=17

(@) T F A GEX R T G MA A R - Y ¢ R e &9 e Ay K
IRTer 129 U @ forw 8 0l AR ey @ @ fow 6 T 1 oY U 3R TR &t &

w%ﬁﬁmaﬁmm%mﬁ%mwéﬁqqé 500 95T
R & frg yaie 21 w9 @A 400 Aee @ forg v B) Foe ¢ @ foe v v

qFd F AaIgHAT Bl B 3R FaT 200 B Tehel IuSRT | IGAFT DT T
freqor s 3k 2@ feaw fafer @ sa Ff (12)

ar

PTO.
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faeforfaa Was AT awem & fore

ffoiaa Wea WmE T @ g fofae
Maximize Z = 10X + 6X, + 4X,
Subject to

X, +X,+X,<100

10X, + 4X, + 5x, < 600

2X, + 2X, + 6X, < 300

X, X, X, 20

Wa@mﬁ%anﬁé

X, X, X, S, s, b,
0 1 5/6 53 -1/6 200/3
1 0 6 | 213 1/6 100/3
0 0 4 2 0 100

(i) ﬁmﬁﬁaamﬁa?rqgraﬁmaﬂwﬁmmﬁ?ww%waﬁmﬁ
B, A AR FHI T DTgI

(ii) o qHEA GvE 87

(iii) =ar a8 e qAEE A @ 87

(iv) @ T e 27

(v)mwmmwmmM@thﬁﬁl

(vi) F A FEreE I ¥ F I7ENT Y o ® 3R F A T R R gT w7
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(vii) ‘vﬂ#ﬁmﬁﬁmaﬁwﬁw%?

(viii) uﬁmmﬁawm?,?hﬁif%mmﬁmﬁmﬁm

fee ?
(ix)qﬁﬁémmxsﬁmmm?ﬁaﬁs}m%,amﬁ

Wfﬁrﬁmmmmmﬁaﬁa@? (12)

3 (+) %ﬁa@aﬁ?ﬁaaﬂm%‘%a&w (c)mmxﬁw%ﬁéwﬁaﬁaa@aﬁ
| ﬁmﬁmm@%mﬁcaﬂzx%ﬁaﬁwﬁrﬁaﬁmﬁaﬁém%:

C:3x(x+7)+5
X+5

mm%mﬁgﬁa%%ﬁ%—ﬁmm%%mm
Ted T 3 o (6)

T
UF &Y 50 91 I9Q F9 AT & mﬁwwé@ﬁm%%ﬁqisoooaﬁm

21 50%%3@%?#?%%3%@%%@@@?75 Wi AT &
farar rar 21 mmmaﬁa‘,mm‘tﬁtaﬁmi@ HER D AR N

I 3+ wfRe) | (6)

(@) v Jeure wo g foar wman 2
| Q = f(L,K) = 27LK "
gﬂLwK%ﬁEﬂél
(i) ¥ TR B QA I H FEER T DR

PT.O.
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(i) T & Afowe @ wHfa w27

(iii) 5w 3R YN &1 oo Rar e B 4l wee HWE ) IES AT IeE B
HA 1 A A S 2 7 (6)
art
ﬁwﬁ%awm%ﬁvaﬁaﬁuﬁwmﬁma R wfeemT &
A 7T e
x = f(Lk) = [ak® + (1 —a)l°]"°
S x T AW AR LR A | SR k T W OIT AR W G e
2l . (6)
(1) & o = fow amfd a% p=v9+x 2 3k AN E W 7 TEEA B IwEE
@ FAEET A FAR) FT 9 IoRF AR q w27 (8)
o
R

3p

M pD)(pr2)

AT A A A HC AR HE 2 T B W qE o) T A 8 T
2l | - (6)

4. (%) v T 9 Fiwd 212,000 31 @l D W A vE T Twmaﬁraﬁm
HFT 201 + 15t ZRY & 7E 2 AR WM B t 99 & AT TR D w7 A A AT 2,

EACEERE o 6880 - 60t> Hera Y faar e 21 W B Wi & R e
Y T Efongy _ | (6)
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a1

W 9§ I W A el X, AR X, 1 IeareT aedt B T wi g e
HHI: l23ﬂ?18§l‘5ﬁ%WW3ﬁW§Q‘

C=2X}+XX, + 2X?2

T IS D O TR TR A R s w3 (6)

(@ )Wm%wmammﬁmmﬁlmﬁmm
ﬁ90000Mﬁﬁﬂawﬁﬁmaﬁwmélmwﬁamf(t)—

5000t'2 0<t<15m€tn§§mtaﬁmuﬁﬁ%m%aﬂz fity & 9 af &
#mmm%mmﬁmwuﬁﬁ%m%mﬁwﬁm
A H ¥ e A a9 (6)

a1

AW 9% & T aQ + bP - K =0, el a, b 3 k g Rt §1 Giwid o I
B W A A fig FrafRa @R (6)

6. aﬁ%ﬁamaﬁfm’q (5x3)
() et v 9 3 @ & fow v 9 A 10,000 T 0 Y, TES A @ R 6%
H W E FT-AqfiE w0 A, T ad B N 12% 30 W/ A JAEE T A IR 10%

aﬁa%maﬁﬁama%ﬁ@ﬁ%ﬂmmusaﬁmmﬁwm
At

(@) 4500 €94 & AR AH Gufe B 10 AU X OO B WY A W AR BRI
AR & e T hifl

(31) 30,000 T F I 6% N AGE THIE A R R, FAE q§ F 5 A 5
& forg TR ST B UREe fRar W 21 e

PTO
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(i) 7 e I & snew
(ii) ﬁﬁa&a‘ftgﬁmﬁmw;
(iii) <A P ¥ =

(iv) A s ¥ Bfe wwem; sk

(v) W%mmagml

(F) ¥ T A FH 10,000 TR 2 3K TS 8 WA F ITA ST 21 qHT & )
AT 8000 ¥9A 3R 6 T 1 ITARR e 21 AT ST 7 T A 22000 T
AMGF A TG IS el @ SERE W B 21800 &Y A 7 q97 Iq=T TS
2L W A 10% U a8 A 7Y, w @ w9 e 27

(¥) ¥4 5000 T =7 @t 3 3 A 10 W AT AT 5000 T F T 2 AH ¥ 2000
T F A & TH T R, 4 el F 4000 T H A SR S e w

6 AT = mwﬁm%m&mw 7%%?@&:% T S s e
27
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2. woft dfe we @ I AR |
3. Muﬁa‘?a’mm%’u

4 TN I aﬂ@mﬁaﬁiﬁwwiw A
wmmmwﬁmw.

1. Explain the process of risk identification. Outline the

appropriate techniques for treating loss exposures.

(15)

Or

Define the concept of risk. How do you measure it?

Explain various sources of risk. (15)

Why insurable interest i1s required in principle of
indemnity. Explain the relationship of insurable interest,
title of property, and subject matter of insurance

contract to constitute concept of indemnity. (15)

Or
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Explain the following : (5x3=15)

(1) Principle of proximate cause
(1) Principle of utmost good faith

(ii1) Principle of subrogation

3. What do you understand by coinsurance? What are
different methods used for coinsurance? Differentiate

between coinsurance and reinsurance. (15

Or

What do you understand by bancassurance? Explain

various features and merits of bancassurance in Indian

context. (15)

4. (a) What are the factors to be taken into consideration

while computing rate of premium on various types

of policies? (7.3)

P.T.O.
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(b) Write a note on loss assessment and loss

control. (7.5)

Write short notes on: | (7.5%x2=15)
(a) Control of malpractices and mis-selling

(b) Legal aspect of insurance contract

5. IRDAI Act, 1999 (IRDAI Act) lays down the duties
of the Auth;)rity to regulate, promote and ensure
orderly growth of the insurance business and
reinsurance business. Explain thé objectives of IRDA.

Write down role and functions of Insurance advisory

- committee under IRDA.

(15)
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1

Or

Write short notes on (7.5722-15)
(a) Health insurance policics

(b) Fire insurance policies

Aew N EEE N uRRa @ IR i JEEE B
AR B AW B U IJIgE qEAE B FRET 9IR-
it (15)

q1

Sfeaw & Fauren & qoafaa Y T I P Wed 27
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